1.1
The table below shows unit labor requirements for production of maple syrup and shoes in Squareland and Roundland.





Squareland        Roundland

Maple Syrup (Hours per gallon)         4                             6

Shoes (Hours per pair)                        10                            4

The opportunity cost of a pair of shoes in Squareland is _____ gallons of maple syrup.

Please enter 1 digit after the decimal point.

1.2

The table below shows unit labor requirements for production of maple syrup and shoes in Squareland and Roundland.





Squareland        Roundland

Maple Syrup (Hours per gallon)         4                             6

Shoes (Hours per pair)                        10                            4

The opportunity cost of a gallon of maple syrup in Roundland is _____ pairs of shoes.

Please enter 1 digit after the decimal point.

1.3

The table below shows unit labor requirements for production of maple syrup and shoes in Squareland and Roundland.





Squareland        Roundland

Maple Syrup (Hours per gallon)         4                             6

Shoes (Hours per pair)                        10                            4

Squareland has an absolute advantage in _____, and Roundland has an absolute advantage in _____.    

A.   Shoes; maple syrup     

 B.   Neither good; both goods     

C.   Both goods; neither good     

 D.   Maple syrup; shoes

1.4 

The table below shows unit labor requirements for production of maple syrup and shoes in Squareland and Roundland.





Squareland        Roundland

Maple Syrup (Hours per gallon)         4                             6

Shoes (Hours per pair)                        10                            4

Squareland has a comparative advantage in _____, and Roundland has a comparative advantage in _____.

A.   Both goods; neither good     

 B.   Neither good; both goods     

C.   Shoes; maple syrup     

D.   Maple syrup; shoes

1.5

The table below shows unit labor requirements for production of maple syrup and shoes in Squareland and Roundland.





Squareland        Roundland

Maple Syrup (Hours per gallon)         4                             6

Shoes (Hours per pair)                        10                            4

Trade between Squareland and Roundland can benefit:

A.   Only Roundland   

 B.   Only Squareland     

C.   Both countries if Squareland exports shoes and Roundland exports maple syrup     

 D.   Neither Squareland nor Roundland     

E.   Both countries if Squareland exports maple syrup and Roundland exports shoes

2.1

Suppose Eastland and Westland are the only two countries in the world, and that each can use labor to produce silk or rice. Westland has 1,600 hours of labor, and Eastland has 800 hours of labor. Each country's unit labor requirements are shown in the table below. Assume that labor is the only factor of production.

                                                       Westland                    Eastland

Silk (Hours per square yard)          16                                  12

Rice (Hours per bushel)                  8                                      4

With no international trade, Eastland produces both silk and rice. The price of silk is $60 per square yard. What is the wage rate for workers in the silk industry in Eastland?

$_______ per hour

Please enter a whole number, with no decimal point.

2.2

Suppose Eastland and Westland are the only two countries in the world, and that each can use labor to produce silk or rice. Westland has 1,600 hours of labor, and Eastland has 800 hours of labor. Each country's unit labor requirements are shown in the table below. Assume that labor is the only factor of production.

                                                       Westland                    Eastland

Silk (Hours per square yard)          16                                  12

Rice (Hours per bushel)                  8                                      4

With no international trade, Westland produces both silk and rice. The price of silk is $48 per square yard. How much do consumers in Westland pay for a bushel of rice?

$______per bushel

Please enter a whole number, with no decimal point.

2.3

Suppose Eastland and Westland are the only two countries in the world, and that each can use labor to produce silk or rice. Westland has 1,600 hours of labor, and Eastland has 800 hours of labor. Each country's unit labor requirements are shown in the table below. Assume that labor is the only factor of production.

                                                       Westland                    Eastland

Silk (Hours per square yard)          16                                  12

Rice (Hours per bushel)                  8                                      4

If each country completely specializes in the product of its comparative advantage and trades it with the other country, the relative quantity of silk supplied is _____ square yards per bushel of rice.
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Please enter 1 digit after the decimal point.

2.4

Suppose Eastland and Westland are the only two countries in the world, and that each can use labor to produce silk or rice. Westland has 1,600 hours of labor, and Eastland has 800 hours of labor. Each country's unit labor requirements are shown in the table below. Assume that labor is the only factor of production.

                                                       Westland                    Eastland

Silk (Hours per square yard)          16                                  12

Rice (Hours per bushel)                  8                                      4

   In the graph below, the relative quantity of silk is measured in square yards per bushel of rice, and the relative price of silk is in bushels of rice paid for one square yard of silk. The blue line shows the world relative demand for silk. Use the orange points (square symbol) to show the world relative supply of silk curve for the relative quantity range from 0 to 1. Line segments will automatically connect the points. Remember to use all the given points to show any kinks in the relative supply curve. Use the purple point (diamond symbol) to indicate the world market equilibrium. Drop lines will automatically extend to both axes. 



2.5

Suppose Eastland and Westland are the only two countries in the world, and that each can use labor to produce silk or rice. Westland has 1,600 hours of labor, and Eastland has 800 hours of labor. Each country's unit labor requirements are shown in the table below. Assume that labor is the only factor of production.

                                                       Westland                    Eastland

Silk (Hours per square yard)          16                                  12

Rice (Hours per bushel)                  8                                      4

Refer to your graph in the previous question. When the world market is in equilibrium, Westland produces _____ and Eastland produces _____.    

A.   Only silk; both rice and silk     

B.   Only silk; only rice     

C.   Only rice; only silk     

D.   Both silk and rice; only rice     

E.   Both rice and silk; only silk     

F.   Only rice; both rice and silk

3.1

Suppose Country Alfa has 1,200 hours of labor available to produce chocolate and tea, and Country Beta has 600 million hours. Each country's unit labor requirements are shown in the table below. The world relative price of a pound of chocolate is 1 pound of tea. Use the Ricardian model to answer the following questions.

                                                                            Alfa                              Beta

              Chocolate (Hours per pound)             6                                   2

              Tea (Hours per pound)                         4                                   3 

With trade, the real hourly wage of Alfa's workers in terms of chocolate is _____ that without trade.  

A.   50% of     

B.   25% higher than     

C.   2 times     

D.   the same as     

E.   50% higher than     

 F.   25% lower than
3.2

Suppose Country Alfa has 1,200 hours of labor available to produce chocolate and tea, and Country Beta has 600 million hours. Each country's unit labor requirements are shown in the table below. The world relative price of a pound of chocolate is 1 pound of tea. Use the Ricardian model to answer the following questions.

                                                                            Alfa                              Beta

              Chocolate (Hours per pound)             6                                   2

              Tea (Hours per pound)                         4                                   3 

In the graph below, use the orange line (square symbols) to graph Alfa's production possibilities frontier (PPF). Suppose with no trade, Alfa uses half of its labor to produce tea and half to produce chocolate. Place the red point (cross symbol) to indicate the combination of goods consumed. Dashed drop lines will automatically extend to both axes. 

Next, use the blue line (circle symbols) to graph Alfa's consumption possibilities frontier (CPF) with trade. Now suppose Alfa wants to consume 125 pounds of chocolate. Use the purple point (diamond symbol) to indicate the combination goods consumed in Alfa. Dashed drop lines will automatically extend to both axes.

3.3

Suppose Country Alfa has 1,200 hours of labor available to produce chocolate and tea, and Country Beta has 600 million hours. Each country's unit labor requirements are shown in the table below. The world relative price of a pound of chocolate is 1 pound of tea. Use the Ricardian model to answer the following questions.

                                                                            Alfa                              Beta

              Chocolate (Hours per pound)             6                                   2

              Tea (Hours per pound)                         4                                   3 

Refer to your graph in the previous question. Suppose Alfa wants to consume 250 pounds of chocolate and 50 pounds of tea. This consumption combination is:

A.   Impossible because it's beyond Alfa's production possibilities     

B.   Possible if Alfa exports 250 pounds of tea to Beta     

C.   Possible if Alfa produces 125 pounds of chocolate domestically and imports 125 pounds of chocolate from Beta     

 D.   Impossible with trade, but possible with no trade
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